IE & %X
= 17 iR 1E
12 |12 x(A),y(a),z(1) x(A),v(a),z(1)
13~ 14
17, 18
13 125
15 1.2.8 KYZRBRHNS - - -
Eili= Lx=116 § (Y/Yn) —16 Lx=116(Y/Yn) "*—16
Eil= a%=500( § (X/Xn) — § (Y/¥n)) |ak=500( (X/Xn) *— (Y/Yn) /%)
Gl bk=200(§ (Y/Yn) — § (2/Zn)) |bk=200( (Y/Yn) "*— (z/2n) ")
Xn, Yn, Zn; STRILERE O =RIMIE T
Yn=100 |ZE#1L
17 | F 1 FX LY (p.34) FX LY (p.38)
22 10 (FEMMIZZE 4 ZED 45,46 %) | GFMITZE 4 ZED B &)
66 323 ERELGET R BEREETIE (BARA Y FHER)
80 |% 343 NE (BRI TV T — BRI 7=V T —
87 |[BExm] | 1) HREFRE 1) BREG
2) REHE 2) BERESL
183 | 5 49.2 BE (/L) BE (o/m)
omE (ml/100 gPig.) SHE (ml/100 g)
JI1—RA—=%— (80Hrs) JIr—RA—=%— (80 hrs)
195 | 4.11.1 K, Na, NH* K, Na, NH,
196 |9 -+ (NH,) SO, — -+ (NH,),SO, —
13 — 6 (NH) Fe[Fe (CN)¢] + -+ — 6 (NH,)Fe[Fe (CN) ] + -+
197 |5 4.11.1 tEE 1.7 ~ 19 g/mL & 17 ~19
198 | 1 RT3 RTINS
4113 HEDETBEMEE HEDETIEMEEE
199 | F 4 _hboa®s NhoE
200 | 4.115 40 ~ 50 Hr 40 ~ 50 hrs
201 |5& 4.11.3 LB 22 ~ 2.7 g/mL HE 22~ 27
202 | 11 Cr (OH), 2Cr (OH)
203 |Z& 4.114 L& 5.2 g/ml tE 52
206 |4 4.12.2 1A AR 2M@KRITTINS | (sheet 2 ICIELLIEG D)
249 | 529D | ZNDHE ADK
#RENS 7 1TH
260 | (5%) 5,6,7,8 3,4,5,6




